2 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
. MMC 8242731 HALF ROUND
] refurn-spring-rod ALUMINUM ROD 6061 .188 RADIUS 2
COMPRESION SPRING 2.5 LG
2 7657K421 SPRING RATE 21LB/IN ‘
2449K11 CLEVIS ROD END NON-METALIC 2
94355A343 SET SCREW 10-32 X 1 LG
5 return-spring-rod-  |MMC 8573K122 DELRIN SHEET 6 X 9
cap-A 6
THREADED STUC 10-32 X 2.5
6 95475A512 ONG 1
7 90272A148 SCREW PAN HD 6-32 X 1/2 LONG| 2
8 90480A195 MMC NUT 10-32 3
98023A114-FLAT-
9 WASHER16 WASHER FLAT NO. 10 1

COPYRIGHT 2018 THOMAS PARKER WILLIAMS
WWW.THOMASPARKERWILLIAMS.COM

UNLESS OTHERWISE SPECIFIED: NAME DATE ..
The Luminice Press 2.0
DIMENSIONS ARE IN INCHES DRAWN TPW 110/26/16
TOLERANCES: .
FRACTIONAL * CHECKED TITLE:

ANGULAR: MACH+  BEND #

TWO PLACE DECIMAL  + .02 ENG APPR.

THREE PLACE DECIMAL 005 | MG APPR. RETURN SPRING ASSEMBLY
INTERPRET GEOMETRIC QA.
PROPRIETARY AND CONFIDENTIAL :
THE INFORMATION CONTAINED IN THIS TOLTEERRANLONG = COMMENTS:
MATERIA
DRAWING IS THE SOLE PROPERTY OF SIZE |DWG. NO. . REV
<INSERT COMPANY NAME HERE>. ANY _ _ _
REPRODUCTION IN PART OR AS A WHOLE FINISH B refurn Sprlng Ossy A A
WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
<INSERT COMPANY NAME HERE> IS
PROHIBITED. APPLICATION DO NOT SCALE DRAWING SCALE: 1:2 |WEIGHT: | SHEET 1 OF 1

2 | ]




	Sheet1
	Drawing View11


